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2) 5 ( x 2 – 4 x + 4 ) – 7 ( y 2 – 6 y + 9 ) = 78 + 20 – 63   

5 ( x – 2 ) 2 – 7 ( y – 3 ) 2 = 35    center is at  ( 2 , 3 ) 

3) r 2 = 4 r cos θ   x 2 + y 2 = 4 x    y 2 = 4 x – x 2 

4) center = ( – 19 , 27 )  a 2 = 1369 , b 2 = 144  c 2 = 1225  c = 35 

   foci are at  ( – 54 , 27 )  and  ( 16 , 27 ) 

5) – 15 ( 3 – k ) + ( – 8 ) ( 2 k – 1 ) = 0    k = – 37 

6) Vertex = ( 1 , – 4 )   p = 15  focus = ( 16 , – 4 ) , directrix:   x = – 14 

7) V = ( ± 7 , 0 ) , F = ( ± 25 , 0 )  , Asy:  y = ± 
 

  
 x 

8) ( r sin θ ) 2 = 4 r cos θ   r sin 2 θ = 4 cos θ   r = 
       

      
 


